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1. MEo| 748

NI72dE X8 HE : A=A X SEXA B3 HE]
HE g% EXfdsa aS8FAe HEAL
EMAELNI|ATIEHEREFA] 84972
A 85268
C1 85269
2 94036
c3 94047
ca 94048
C5 152 94069
w 94308
Ce 95187
Cp 24712
I 18879
w 94308
S AP789
HEO| BF FAY, FUHA, BRE B e psge 2008.06.27
2877 2014.06.27 ~ 2014.09.26 e Mi;i;;”;i%
A2 83| Ab EYAEIMREF) HET A 2B AL o2
kOl S| AP www.trustonasset.com QU HFAFR AL2| S| A Q|ZHH E MH| A
AEFTY 4O 60% Ol &2 =L FAI0f FXISHY KOSPI X|4=0| =4 &S X5t= FAt A& HHS FH5t=
XA ERYLICH
M=o EX ZHK|F e M duto] HEEX| 0, A SE0| FA% AN E 28311, In-house research
(RIAL LHE] 2IMX] =2)E HIE2Z HAIZH 241t Bottom-up 2 MO Y 24)8 HASIY, H7|H2 2
7HKE 4SAE = U 719E o8, 24510 LY 7HX| o|Stoll A FXpgtL|Ct
J2fLt O] EXtAIEIS] EXEEO| BIEA| HYEICHe BE2 glE L Ch

(Tt EHOHQ), HHOEL, %)

HEHH 25 oY e SUE

RAE Z0H (A) 504,403 486,400 -3.57

EaAEH7|AT Bxj| =i (B) 13,725 8,093 -41.04
S AE A AIEHZAL XA (C=A-B) 490,677 478,307 -252
gl o1z & 4 (D) 445,755 460,436 3.29

7|Z= 7t %) (E=C/Dx1000) 1,100.78 1,038.81 3.88

T F(Class)d 7| &7t 2ig

A I|E7HA 1,045.62 1,034.40 3.44

C 71744 1,028.05 1,032.85 3.28

C2 7|1&7tA 1,031.15 1,033.25 332

c3 7|1&7tA 1,035.49 1,033.58 3.36

c4 I|E7HA 1,039.51 1,033.88 3.39

cs5 I|E7HA 1,175.72 1,034.15 341

w I|E7HA 1,074.73 1,036.74 3.67

Ce I|E7HA 1,038.38 1,034.14 341

Cp I|E7HA 1,046.89 1,034.53 345
7=+ 1,073.42 1,036.66 3.67

S I|E7HA 1,012.37 1,035.84 3.58

F) 7|E7H40|2 EXRVL HEEXASHEE YS(OHY), EF@E S 42 e RHlgdEaxd) =8 Ao H8&e 7HH2 8 HEQ| &Xtit
ZHS WSlE| 0| =A Ex42 LHe 712 S TetLC)




(EH] - %)

T =2 371 2 671 2 97K X2 1274
SelAEYI|IAT 3.88 7.32 7.10 8.25
SHEREFA]

H| m X 2= (3 X| O 3) 1.83 343 1.62 121
(H| W X| == CHH| 1) (2.05) (3.90) (5.48) (7.04)
B F(Class)d gt
A 344 6.42 5.76 6.44
(H| W X| = CHH| A1) (1.61) (2.99) (4.14) (5.23)
C 3.28 6.10 5.28 5.81
(H| W X| <= CHH| 1) (1.45) (2.67) (3.67) (4.59)
2 3.32 6.18 5.40 5.96
(H| W X|== CHH| 1) (1.49) (2.75) (378) (4.75)
C3 3.36 6.25 5.51 6.10
(H|ZX|4= CHH| A1 (1.52) (2.82) (3.89) (4.89)
ca 3.39 6.31 5.60 6.23
(H|ZX|4= CHH| A1p (1.55) (2.88) (3.98) (5.02)

c5 341 6.36 5.68 6.33

(H|ZX|4= CHH| A1p (1.58) (2.94) (4.06) (5.12)
w 3.67 6.90 6.47 7.39
(H|ZX|4= CHH| A1p (1.84) (3.47) (4.85) (6.18)
Ce 341 6.36 5.68 6.32
(H|ZX|4= CHH| A1p (1.58) (2.94) (4.06) (5.11)
Cp 345 6.44 5.79 6.49
(H]ZX|4= CHH| A1p (1.62) (3.01) (4.18) (5.28)
I 3.67 6.88 6.44 7.36
(H|ZX|4= CHH| A1p (1.83) (3.45) (4.82) (6.15)
S 3.58 - - -
(H| X[ <= CHH| 1) (1.75) - - -
H| D X| 2= (8 x| OF ) 1.83 343 1.62 121
Z=) H|X|4=(HX|0F3) : KOSPI 100%
X2 EXA™Me Ot MatE LIEpE # Oj2jo| 28 MHAlE HESHE 42 OfEL|CE
(EH9 : %)

T [ ERIE A= 2 = 31 Z[= 54
SeiAEY7|IAT 8.25 16.59 4411 56.07
SHERAEFA]

H| D X| 2= (8 x| OF3) 121 2.59 22.93 20.11
(H|X|4= CHH| A1 (7.04) (14.00) (21.18) (35.96)
EF(Class)d 3%}
A 6.44 12.71 37.00 4358
(H|X|4= CHH| A1 (5.23) (10.12) (14.08) (23.47)
C 5.81 11.49 3475 39.37
(H|ZX|£= CHH| A1p (4.59) (8.91) (11.82) (19.26)
2 5.96 11.68 35.14 -
(H|ZX|£= CHH| A1p (4.75) (9.09) (12.21) -




72 5214 52 2 52 3w =2 5d
c3 6.10 11.99 35.69 -
(B]mA= Cfe] A (4.89) (9.40) (12.76) -
C4 6.23 12.25 36.17 -
(H| @ X| = ChB| -g3h (5.02) (9.67) (13.24) -
(&) 6.33 12.48 - -
(@A % cfe] 4ap (512) (9.89) : :
W 7.39 14.75 40.76 -
(H| @ X| = ChB| -g3h (6.18) (12.17) (17.83) -
Ce 6.32 12.35 36.18 41.57
(H| =X 2 e A3 (5.11) 9.77) (13.25) (21.46)
Cp 6.49 12.81 37.17 -
(H| @ X| = CiB| -g3h (5.28) (10.23) (14.24) -
I 7.36 14.68 40.59 -
(H| @ X| = CiB| -g3h (6.15) (12.10) (17.66) -
S - - - -
G el 5 : : : :
H| m X| =(&lX|O3) 121 2.59 2293 20.11
) H|W X|4=(HX]0F3) : KOSPI 100%
X 9 EXMAM2 A MatE LIEPH 2 oj2fo| 2 RMaIE HESH= 22 OfElL|C)
A e
W &g
(e - o)
ES TIFAH AFZZ Ed =
% =2 LR P ) - a i B R T
4 | ma | os [mgsx| 34 | 3o TR e | 2 A3
™ 7| 17,434 0 0 0 0 0 18 14 17,466
27 18,433 0 0 0 0 0 13 12 18,457
AFSiS
3. Xpotoigt
W Xpibpgeie
(Sr9l - 1ore %
=5tk = 3 TFANAFS E e RfAL Chy|CH= g
ity L Y =2 e | xusey
22 [ w4 [ ma [ os [wmwex| w4 | 5 gEx] oI | o3
KRW 476,111 0 0 0 0 0 0 0 0 1,717 8,572 486,400
(97.88) (0.00) (0.00) (0.00)] (0.00)[ (0.00)] (0.00) (0.00)[ (0.00) (0.35) (1.76) (100.00)
) 7guE
7| EEl
7t B 2.93 st | 176
Ch|cisgio2 | 0.25 E|CHER0IE | 0.35
EN 6.62 EN
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(4] : %)

=9 253 HIS =9 2453 HE
1 MH| A9 17.93 6 289 5.83
2 fEd 13.63 7 23 5.79
3 7|, ®At 12.64 8 ECET 4.89
4 25| 10.80 9 SMBRE 3.86
5 3t 8.20 10 7|Et 1643
MH|A 17.93
Fed
B2 HR
2|
oSt
=8¢
23
HIASS
SHEE
7|Ef
20
> EXHHA A9 1052
(EHRI = %)
T =9 HS T =9 HES
1 F A4 S H R} 7.10 6 F4 HAohxR2% 3.26
2 ZAl LG 467 7 Z=A MM 2.79
3 ESN NHNRIE{E| QI HE 375 8 =4 MM A ALY M L 2.50
4 A HYSH 3.51 9 T4 S 246
5 FA| POSCO 346 10 ESN| O ZH| A 240
XECH At SRR 82 S 8FAE2 ASAIMOIES HE 27|FHENM S AMUBEIME FHASHY 5= AHLICH
(AU httpy//diskofia.orkr) B @2 TASAIAOIEOM Z2|ot 27|FYPEDM S ZMEDME= 2 AR 2 DM 27| F L0
ol = A&
Vv ZHRAHE HQEE Y
> FA
(BRI @ F, BRI, %)
=9 HR Bota HIS al =7t =2 = B2
2GR 29,139 34,530 7.10 Cystol= KRW 7|, R
LG 296,527 22,714 467 chstol= KRW RS
NHNQIE{E| O HE 230,317 18,241 375 thsHal= KRW MH| A
Hyg=4 225,147 17,089 351 thshol= KRW LEY
POSCO 50,793 16,812 3.46 chstal= KRW [EPIETERN
K2 2B 134,316 15,849 3.26 CHstol= KRW 2|
Y 62,919 13,591 2.79 cHstol= KRW 23
AM|A QTE LY M 95,309 12,152 2.50 cyetol= KRW SN
R 253,749 11,964 246 chstal= KRW M| 7tA
SO 2 H|A 45,692 11,651 240 CHstol= KRW 2rYH|
F) EXOY &9 1055 3 HIt5AH0| RHibEA| 5%E Edhs F2 7N E= HAHFA S50 1% =1t T=
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o 7| =
TE 29 Hlg 29 Hg
AL 2 A 54 0.19 48 0.19
P 97 0.34 86 0.34
H E Xf AR 2ES| AF(A EFQI R} 2 0.01 2 0.01
UEIALR 22| 3| AL 1 0.00 1 0.00
HBH 155 0.54 136 0.54
7| EFH| &+ 0 0.00 0 0.00
CheOjol. B+ 2 5 0.02 11 0.05
gl VYT
Kj X X
AEAL- A 2oz 5 0.02 6 0.02
T A 10 0.04 17 0.07
SHAEAM 22 0.08 24 0.10
RHot28 A 20 0.19 11 0.19
THOR 3| A 33 031 17 0.31
HE X A TS| AHA EFRIXL 1 0.01 0 0.01
UHFALE 22| 2| A 0 0.00 0 0.00
28t 54 0.51 29 0.51
7| EtH| 8%+ 0 0.00 0 0.00
NN Y ey 2 0.02 3 0.04
S TR
=74 N 2 0.02 1 0.02
anz MH| A =8
A 4 0.03 4 0.07
SHHeHA 8 0.07 5 0.10
KFALS 2 A 83 0.19 63 0.19
L 122 0.28 93 0.28
HEXHAE 2HS| AHA EF Y XL 3 0.01 3 0.01
UHIALR 2| 3| AL 2 0.00 1 0.00
HASH 211 048 160 048
7| EFH| & ** 0 0.00 0 0.00
ClaOjoy. S48 8 0.02 15 0.05
°HOH. ZAIREMOID =
=) = © 8 0.02 8 0.02
N MH| A =2
TTE —
A 15 0.03 23 0.07
SHAEA 33 0.08 32 0.10
KA 2 A} 74 0.19 84 0.19
mhOj S| A 99 0.25 112 0.25
H £ Xf A2 2| AF(AEFRI R} 3 0.01 3 0.01
LHEALR 22| 3| A 2 0.00 2 0.00
2o 178 0.45 201 0.45
7| EFH| & ** 0 0.00 0 0.00
ot COiO). B/ 42 7 0.02 21 0.05
oy O
' ZMNBEMYR S
7(7 X X
ELI MH|A aaz 7 0.02 10 0.02
T 37 14 0.04 31 007
EE e 31 0.08 43 0.10
RHAt2-8 AL 7 0.19 5 0.19
o | A 0 0.00 0 0.00
H £ X A2 2| AF(ALEFRI X} 0 0.01 0 0.01
UHIALR 2| 3| AL 0 0.00 0 0.00
HastH 7 0.20 6 0.20
7| EFH| & ** 0 0.00 0 0.00
ChaOjof. S48 1 0.02 1 0.05
A TR
=) = 1 0.02 1 0.02
N MH| A =8
TTE —
A 1 0.03 2 0.07
SHAEA 3 0.08 3 0.10




Ege 7| 27|
~ 29 bl g 29 Hlg
RHt2- AL 20 0.19 20 0.19
THOY S| AL 26 0.25 26 0.25
H C X A 2ES| AHAL EFRI X 1 0.01 1 0.01
AR 22| 2| A 0 0.00 0 0.00
B3 47 0.45 47 045
Ce 7| EtH| &** 0 0.00 0 0.00
ChaOfOf. B 448 2 0.02 5 0.05
A EESTETer=
=74 MH A Aag 2 0.02 2 0.02
S
A 4 0.04 7 0.07
SHAEAM 8 0.08 10 0.10
AL 2 A} 2 0.19 2 0.19
EHO 2| A 2 0.21 2 0.21
H E XY A TS| AL EFRIXL 0 0.01 0 0.01
UHEAR 22| 2| A 0 0.00 0 0.00
28t 4 0.42 4 0.42
Cp 7| EtH] 8** 0 0.00 0 0.00
Ceojo) B8 0 0.02 0 0.05
S TR
S MH|A a2 0 0.02 0 0.02
SR
A 0 0.04 1 0.07
B e 1 0.08 1 0.10
KA S AL 214 0.19 191 0.19
ZHOj 2| A 9 0.01 8 0.01
HE XA 25| AHA EFRIX}) 9 0.01 8 0.01
UEFALR 22| 2| A 5 0.00 4 0.00
EES ¥ 236 0.21 211 0.21
I 7| EfH| &** 1 0.00 1 0.00
ChaOfOf. B 442 20 0.02 48 0.05
A VY=
=) 19 0.02 23 0.02
o MH|A =58
TTE —
A 39 0.03 71 0.07
SHAEA 85 0.08 99 0.10
AL &AL 0 0.13 0 0.19
ZHOy 2| A 0 0.06 0 0.09
H E XY A TS| AL EFIXL 0 0.00 0 0.01
UHIALR 22| D AL 0 0.00 0 0.00
23 0 0.20 0 0.29
S 7| EtH| 8** 0 0.00 0 0.00
o Cteojo). B8 0 0.02 0 0.06
: =] o =
= f:;ltjf;; 0 0.02 0 0.02
SR
A 0 0.03 0 0.08
SHAEA 0 0.07 0 0.10

*HEO| XS U ET il HIE

)
** 7|EtH|EO[2t 2| A ZALH| 8, ST S2 oS S ZHHIE S HEMM FJH-HEHo2 X HE22A Hiif- S/ ++2E X el AYULC
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> & H, HE HIE

(THe| - AzhiL %)
oy sig HE HHE H|E Bt
= SH= - H8Hlg S8 Hg |(SHB2.HEHEPH0] - S+ HE
EBAEAI| AT 7| 0.0008 0.1983 0.0008 01983
SASRHAEHZA 7] 0.0008 02019 0.0008 02019
B F(Class)d gt
7| 16994 0 17002 0.2003
A o7 16994 0 17003 02029
E] 22995 0 23003 0.2095
¢ o 2.299% 0 23003 02057
E] 2.149% 0 21503 01739
= o 2.149% 0 21503 01993
o E] 20195 0 20203 02135
o 2019 0 20203 01938
7| 1.8994 0 19003 0.2005
4 o7 1.8994 0 19003 0.1989
E] 17991 0 18 0.1818
© o 17992 0 1.8001 02109
E] 0.7993 0 0.8001 0.196
w o 0.7993 0 0.8001 0.1968
- E] 18346 0 18354 0.1989
o 18073 0 1.8082 0.2046
E] 16491 0 16499 01963
cp o7 16491 0 16499 0.2049
1 E] 0.8294 0 0.8302 0.1932
o 08293 0 0.8302 02015
S E] 11301 0 1131 0.1839
o 11452 0 11461 03116
1) B2 4=-H|8H|Z(Total Expense Ratio)0|Zt 2EE S, § HEO|A EESH= 'E'2f 'J7|EHH|8 SUZ =X AFTH(E=-H|E XU 7|
F)CE Lt HEEM Sy 287(7t & FAAIL £Eot & E4-H8FS LIEFHL|C
= 10

F2) Ojof- B4 ===

Z HIZ0|2 - S ++=

TR A

UA(ES-HE

X

7IEB)LR Lix HEZRM Y 287

7}%

()

ERR7L 2

o ojof- SH5 4RO £FS LIEFLICE
73) DAMO| AL DHEO|A LS HSS AFHET} XFX|SHE H|STHR OHESH0] BHAFSH K| QLICE
E A o
6. EX}XIAF OjOjLH <
W OjofFAR 2 3 2 HE
(EH9 : 2orel, %)
oj = oj= ojOf 3 S g2
St e +2 B X, e
2,417,170 123,407 2,225,135 154,930 32.36 128.39
7)ol 287(7H E BE3 FAIAO| ZAS 1 BT 287|175 B8 FA0| BRI L H|g
H =2 327| ojoi2|™& 0|
(Bl - %)
13H12E27Y ~14H03 26 144032272 ~14H06E26 1406827 ~14H09826Y

17.03

2534

32.36
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